LA FERBEY SHREN S HFALF

REE!

: @fr’;ff?lﬁ']—+—_1mf L EBL YA~ F 0 BEAIE

SRR B DS 8 B MR AN OB B
.EACLMD%PEJ»Ppéiﬂ.éﬂ;m%DQWn%znﬁ.\@o

= ASCRINIE T o

H

MO O m O/ O5F

R R (B (][5 [ |% 8 R PEC )5

i) i

iz

¥

Q) ¥ BDmé‘“"‘k’# LY k20 > BDO? A2 5 y=k(x+1) >
N ﬁ y2_1 ) F T Bk +2)x +6k x+3k2 —6=0.

R B(x o y) D(x2 y,) > Rl
6k _3k*-6

Xtx,=——"F— " XX, =5
IV R )
- 4£(k2+1) .

v o T S vk e 2 AL o~ 2 N ., Y 1
F1L ACE BCAR > BEp » T ACHHh&EL F L ——,

k
1
4\6(2“) ,
Bl s AC = 1k :4\/5(2]{ 1)
3X—+2 2k"+3
k
= ¥ ) ABCD 1% 4
- 2 2 2
s-L3p.7Cc= 224(k +12 L 24G%+D) 2:%.
2 (Bk™ +2)(2k” +3) {(3](24_2)4_(2](2 +3)} 25
2

Fr=1pF > F gL
00'$B AL F k=00 A F 7 5 hpF o #3) ABCD 5 Ff

2, ~ 2> ~ 2 [ [ 3 I ¥ 96
FE M Ay 0 w5 ABCD st Ff k) B S pr




{4{§ﬁ§$&ﬂ§%§ﬁ4m%L%

@EI . e ﬁiabcz% il'—v— i a4b+c=3 > Fé‘ P_a_
(3-2a)(3-2b)(3-2c) < a’b’c* °

SR [ 1A i

5 wmﬁwmﬁﬁﬁhv e

-
g gy (8 s O[5 8 Pu ke o

i) i
iz

DR A - AR a<b<c °

¥

(1)4c% a+b<e, d a+b+c=3£2c:>c2% °

X a+b+c=323a:>a£1<%,.'.b<% °

F P (3-2a)(3-2b)(3-2¢) <0< a*b’c? o

(2)4c% a+b>c, & s= a+127+c % a1l

(3-2a)(3-2b)(3-2¢c) < a’b’c* & 8(s—a)(s—b)(s—c)<a’b*c* o
}\‘.frﬁ?%}'ﬁa,b,c’f#é\;— 4% 27 m‘é—w’ﬂ % 37 mfﬁé}\fra

FZ &0 M5 A0 BIA =s(s—a)(s—b)(s—c)= ("—bc)

HeY REZZ &AM ZFINEIL o

] (3-2a)(3-2b)(3-2¢) < a*b’c* & 8(s—a)(s—b)(s—c)<a’b’c* &
8A” < s(abc)’ =16sR’A> = 1<2sR*> < 1<3R’

FEZM L g+b+c=25=3<3BR=1<3R? >

FIr B EILE L v 1F

2R = a_ _ b __ ¢ _ a+b+c , %
sinA sinB sinC sinA+sinB+sinC
sinA+sinB+sinCS¥ ’
A +b+
FTI4 2R = atbtc (a+b+c):>3\/_R>a+b+C ;

sin A+sin B+sinC 3\/_
HY ABCH: T =452 Zp &> &EIL-




LA ERF R SHEEL S RFAP

REFI :

Kabs L FH Far2w o 4] B H - ¥ a-20 5 43 7
+ + =4

¥ o
Featp b J‘ -

= ASCR NI i o

H

MO O m O/ O5F

£ B

B (8 [ O | 9 ET e )=
z i

JZi»L

D Fla+2b 5 A1 R B0 B 2la+b=21(a+2b)-41b 7 5 4] 2 #H
Paﬁm’ Fla-2b % 43 mzﬁﬁz’

B 2la+b=21(a—2b)+43b 5 43 2 Hc -
r? 41 2 43 3 5 > #x2la+b & 41x43=1763 113 #c o
£ 2la+b=1763n * P
21(a+b)=1763n+20b = (21x84)n—n+21b—b = (21x84)n+21b—(n+b) *
KA 8 n+b s 21 S Hco
2 a+b=83n+20(n+b)/21>83+20=103 °
T n=1> b=20PF > q+b=103 2 B » iHFF4=83 o
¥ B a+2b=83+40=123=3x41 > a—-2b=83-40=43 &I 7 f o
FIt a+b i) B E 103 o






